
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.10     1) 

Είναι   οΔΓ , ΒΓ 45



   οπότε   ο 2
ΔΓ ΒΓ ΔΓ ΒΓ συν ΔΓ , ΒΓ 10 8 συν45 80 40 2

2



           

5.10     2) 

Είναι    , 45



   . Οπότε 

2
, 10 8 45 80 40 2

2


 

              
 

 

5.10     3) 

Είναι    , 0



   . Οπότε 

, 8 8 0 64 1 64


 
              

 
 

5.10     4) 

Είναι    , 45



   .Οπότε 

2
, 10 8 45 80 40 2

2


 

              
 

 

5.10     5) 

Είναι    , 180



   . Οπότε   

 , 10 10 180 100 1 100


 
                

 
 

 

5.10     6) 

Είναι    , 180



   . Οπότε 

 , 8 8 180 64 1 64


 
                

 
 

 

5.10     7) 

Είναι    , 135



   . Οπότε 

2
, 10 8 40 2

2

   
                     

 

 

 

 


